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The Harappan Civilization belongs to which
age ?

A) Iron Age

B) Stone Age

C) Bronze Age

D) Paleolithic Age

E) None of the above
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What was the theme of the o
Entrepreneurship Development Concfave
2025 held in Pune ? g

A) Empowering Entrepreneurs Ak
Transforming Livestock Economics

B) Strengthening Rural Startups through
Innovation

C) Building Future Leaders in Ag_ri-Tech_

D) Livestock Entrepreneurship for a
Self-Reliant India

E) None of the above
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World Consumer Rights Day is observeq
on

A) April 8

B) March 21

C) October 11

D) March 15

E) None of the above
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question is one to which a member
se and which

desire an oral answer in the hou

is distinguished by an asterisk mark.

A) Short notice
B) Starred
C) Unstarred

D) Long noticé

o eI I
pema T
B
e

G Scanned with OKEN Scanner



Join Telegram Channel "QuickSarkari.comm =

s R S Y T T

() e B ER S i
T A @R 2
A) femmeret siew
B)wmu?m“
C) ATIS
D) AT
E)méﬁﬁﬁaﬁéqzﬁ

Kangto is one of the hlghest peaks of India
is located in which State 7

A) Himachal Pradésh
B) Arunachal Pradesh
C) Nagaland [0

D) Manipur

E) None of the above

(@nmﬁtﬁﬁqﬁrﬁaﬁﬁﬁ%ﬂ@mmﬂaw
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A TR B) Fhwew
G) draTgd . D) T
E) wwf i & i T

EI*‘:‘IEI Mahavira attained'moksha (became a
E$%% Siddha) at which of the following places ?

A) Rajagriha B) Kapilavastu

D) Purushapura
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STt 2 | Feon R wh geqm At & Iwehi wes
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C) Pavapuri . .
E) None of the above mm@ﬂwmﬁﬂﬁméaﬁtmﬁmﬁﬁm_
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A) welg
C) w=arg
E) SwiFd o & IS T

9. 3@ H %vﬁﬁuqﬁ{%ﬁw@rwmm
TG Tehar g ?
A) FLT
C) wa

E) 3udsd o § HIg T

B)'m?:m

D)@fré

B) g:@::;
D) Y

10. Foreht T srerm B oft S R e W §
%mmﬁﬂaﬁﬁmﬁm%ﬁrﬁﬁ
@t St 8 ? -

A) 1Y I HEOT QAT hT
B) 2@ 3 3= QI
C) #a1 3R wfd 2
D) ¥ i 3 gl
E) 3I9fad § @ HiE Tl
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D) 1% 35% fe e & o 2 |
E) SWfa # & ¢ i

12. T5ehl mifta % for ot 4 g & arfefe ain
foreft ferstwam <6t e = 2t 2 7

A) 3T’ B) iy
C) =z D) IuST
E) 39w # & i¢ 7

il (9. 9. 13 A W, 17) : Freferfas e ) e
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B)mgﬁﬁﬁﬁ@ﬁ,wﬁwﬁ

T B | s
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Hepr I 8 | |

14, er@es i miftr-frmfrdi 1 HE-H = 70
T R 7
A) T " ITH A T & Tl @ |
B) &H %% ifage 7 2 |
C) wewra gfv et T 1 & T € |
D) T W 3 A wEead & ferem TN @ |
E) S & & 15 7
16, TS ¥ T SR F R oft A fR
A, T, EAa-s e 0
YA A W |
A) @
B) ™
C) I
D) 3R
E) Sudwa # & IS T&
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T 3TTeS A8l o4 Hehdl |
A) sifsan
B) s
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D) deftan
E) swdaa & & =13 7
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A) TR A ST 6 |
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(18,51 fedroor s orron 1 sy = fteer 3 &2/ 5 R gt g o 3
frwer 3 e e, =R ferdheor g & | A) I e
+ A) Wﬁmmamaﬁ!?ﬁ" . -B) T # @
B) TS C) @t g
C) e D) 31t & =l s
D) s E) 3wfw & g 1 &
E)?tlﬁaﬁﬁﬁ‘aﬁéﬁ'ﬁ "@-Eﬁﬁ%aauﬁq&ﬁam(aiﬁng%)mﬁ?
@ G T %m o 91 21 B e B S
A) R e ' C) 5594 -D) 80 =
B) iz E) 39w & & s 7
c) == At what age did the Buddha attain
” o Parinibbana (final liberation) ?
o o ﬁ A) 75 years B) 60 years
® ﬁé 4 C) 55 years D) 80 years
20) ‘A’ I ﬁﬁﬁ'ﬂiw 2 E"@ E) None of the above
A) s @ Sl 2025 & FH-81 3 AT
B) e forrer g <1 10 a1 01 TR =1 7
) &M A) T @
E) e C) sgHfRm
 21) ww ) e R T SR e D) fira
g, Rmia e & R A 9w § | E) swdad § & @1 T
Whi try officially became the
A) wa wtrlf:nffnugmnt;:r of the BRICS group in
v B) ¥9d January 2025 ?
A) Saudi Arabia
B B) Turkey
D) fergama - C) Indonesia
E) swder # & 1S TE D) Egypt e _
—— E) None of the aboVv e
vZe| I sl
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A) SR ;
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C) frarar

D) STEHCT

E) I | & g T

IEI @ A social phenomenon in which a sectlon of
E! the society is unable to fulfil even ns basuc
necessities of life is called as

A) Unemployment

B) Poverty "
C) llliteracy
D) Inequality | (3

E) None of the above

'Wﬁm%mmﬁ%mw
£ eyl i g A e &2

A) 3TgeaT 46

B) ¥1geag 21

C) aig=ds 57 - 3
D) e 53 ]
E) Iwfed & @ g T i

o of the Indian Constitution,
iipee;::::f:eﬁgf\ier of Union shall b Hyestad
in the President? |

A) Article 46 L

B) Article 21

C) Article 57 I

D) Article 53

o o e i e 3 e 8 R
i 3 e W S T 7
A) sfeiifies Hifa sw 1950
B) itaifires fifd s 1948
c) i Hifd s 1952
D) sitenfie Hifd &= 1956
E) 39dad § & 15 T

Which Industrial Policy Resolution gave the
public sector a strategic role in the Indian

economy ?

A) Industrial Policy Hesdlution 1950
B) Industrial Policy Resolution 1946
C) Industrial Policy Resolution 1952
D) Industrial Policy Resolution 1956

E) None of the above

28. ﬁaﬁﬁwﬁﬁrﬁﬁmwoaﬁﬁm
ﬁfﬁfﬁfﬁaﬁﬁmﬁrw ?

A) 25 f, 2024
B) 5=, 2025
C) 29 fede, 2024
D) 30 T, 2024
E) swfe # & I3 T&
% Former U.S. President Jimmy Carter passed
¥ away at the age of 100 on which date ?
A) Decembef 25, 2024
" B) January 15, 2025
C) December 29, 2024
D) November 30, 2024 I

E) None of the above -

ve
E) None of thﬂiﬂwwm ..... -

e
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29, TV T, W R qvi 6 I okt S @

2, frw Afeep vier & e T 27
A) T i
B) W ;_
C) FerfdE i
D) g |-i_i-_;;
E) SEwAd T
@ E The Purusha Sukta, which e'k'ﬁlains the
]%‘9&’% origin of the four Varnas, is f:q:'ufnd in which
Vedic text ? P

B R
it S TP
"""""""""""""

iy (3. 4.

e

..................
e e .

fersh =

Al I ST Ty 2 |
St 3 Q1 STCH-37em R rde o mrsn &
. Q
Direction (Q. No. 31 to Q. No. 35) : The given
table shows the number of employees in four
different companies and the percentage of

male, ratio of the male to female employees in
Finance department.

The companies have two different departments
Finance and Marketing.

A) Yajur Veda
B) Samaveda
C) Atharva Veda
D) Rig Veda

E) None of the above

30. af 2994 + 14.5 = 1728, A1 29.94 + 1.45=

A) 1.72 -

B) 0.172 ?_f/ -
\"\\b

C) 17.2 i

D) 172

E) smAaBE T

If 2994 + 14.5 = 172, then 29.94 + 1.45 =

A) 1.72

B) 0.172

G) 172

D) 172

E) None of the above

VZ9 00 00

wm
ar

Lo L L

G/ el g5 wrgaa fermm gasﬂ:a%m
Company |HefEl & el | st A ged 3l
e/ T %/ & %/ Afgen
Total %ofthe |%ofthe  |aH=fea
number of |male employees |1 AT/
employees |employees [in Finance Ratio of the
department |[male to
female
employees
in Finance
department
A 2000 60% 70% 4:3
B 2400 75% 50% 3:1
c 1800 50% 60% 5:4
D 2800 75% 50% g:5

31. Dﬁnﬁﬁﬂﬁm%ﬁmﬁﬁﬁgmaﬂt
Tfirer 1 el A F ST R 7

A) 6: 1 B) 4:3
e) 7:2 D) 8 2
E) swfe 3 & FE T
erof malet0

What is the ratio of the total numb

s female in Marketing department employeés

HHG in D ?

A) 6:1 B) 4:3

C)7:2 D} 843

E) None of the above yg, &; -—-%ﬂ'
S e

e iy

8a q aw_ 2! W{q

% 20

\®”
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@Wﬂmﬁﬁﬁmw&ﬁ%m 35. C 1 s fasm # gey wd=ifEl 6 F@n D
TR 7 | F arhfen faum ¥ FHEREl B Fa gen w=@
A) 1400 B) 1200 e Rpa wfoerd & 7
G) 1500 D) 1300 A) 50%
E) ST F H IS | B) 43%
What is the average number of male C) 53%
employees in all the companies together ? D) 77%
A) 1400 B) 1200 E) ST & & 13 T
C) 1500 D) 1300 The number of male employees in Finance
E) None of the above i %.*ﬁ@ department in C is approximately what
. L : [ percent of the total number of employees in
33. Tft SRR H B T  whven sd=Ral Marketing department in D ?
<1 3fiEd T R 7 A) 50%
A) 470 B) 440 E
c; 460 D; 480 B Ea
E)sew A A WA C) 53%
D) 77%

What is the average nurnber_éf female

employees in Finance department in all the E) None of the above

companies together ? ot - . )

) 470 B) 440 B, S

C) 460 D) 480 3w ek

g7 T e T B 7

E) None of the above N A .
34.Hﬁﬂ%¢ﬁﬁﬁwﬁﬁﬂﬁmﬁ_waﬁm_ B) fordfa weam

et 3 ot @ AR P - N

A) 1680 ‘ S

B) 1460 _ D) ot

D) fauifa Tﬁﬁ ﬁﬁmﬁg - Which of the following acts as a vehicle for
E) 31:@7&1 04 I3 ; " mobilising and transferring the economy’s

the male and
. i ce between i ?
E5E What is the dufferen_n Viarketing department surplus to the ultimate users
Sl IO ees !

- female employ gethel' ?

A) Government policy
%% i all the companies 10

B) Financial institutions
| o Koy = C) Man power
B) 1460
C) 1720

D) Cannot be dete

ve o
E) None of the 8P0%7 ... g
P ) S gﬂ | P.T.o.

vZgl (i
o=
W RN

= <V

9L

D) Commercial centers
rmi\ned , E) None of the above

T . |
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38.
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T

15 S, 2ozsaﬁ=|§ﬁvv—ﬁﬁam‘rﬁm@
e Tty ey g R
mmwﬁﬁémﬁﬁww?
A) TH. wEREH |

B) @ 2T -

C) %o Qi

D) 3¢¥ ®ich

E) wda # & #E T

Who was conferred the Honorary Citizen
Award of Singapore by President Tharman
Shanmugaratnam during a ceremony in
New Delhi on January 15, 2025 ?

A) N. Chandrashekaran

B) Ratan Tata

C) Tarun Das

D) Uday Kotak

E) None of the above

s g e e 1 R 2 2

A) TIEEAT B) A
C) HEEr D)apﬁmr
E)awgaﬂﬁﬁaﬁé‘—rﬁ g

The Adi Purana, is the haglography of
which Tirthankara ?

A) Parshvanatha B) Neminatha
C) Mahavira D) Adinatha
E) None of the above .f-i-_-: 2

. wer foted ®iw (FMF) 20253531 A

fopam TR T 7
B) 31 4, T.TE.
C) Hhe, AMH

D) f@m, g3dl I

E) 393 & & IS TE

"@' Where was the Future Mlnerals Forum (FMF)

[ 2025 held ?

i s S i Bt S R S

VZ9

A) Doha, Qatar
B) Abu Dhabi, UAE
C) Muscat, Oman
D) Riyadh, Saudi Arabia
E) None of the above

v gnnre

b T P TR

A0

...--— Fore

.ma@:im?ﬁﬂwaﬁmm

2 31 B FEN ¥ g oy st =R 7
*A) 989

B) 980
C) 998

D) 990
E) S9e & § r$ i

number and smallest 2 digit number is
A) 989
B) 980
C) 998
D) 990

E) None of the above

4. BT EE 2 : 45 W49 -1 2
A) V45
B) /49 -1
C) ST =e &
D) fraiRa 7€l foram ST Hehel
E) Svded & § H1S TRl
Which is greater : J45 or\/49 -1 2
A) V45
B) V49 -1

C) Both are equal

D) Cannot be determined

B —
M pa R T TR O ST

‘@105

E) None of the above

i
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A g
’@W%ﬁmmwmﬁm S (%, 9. 45 A . 9. 49) : Frafafea s 1 |
Wﬁmwmﬁwmw Y AR w3 oy T I % IWC |
kbl | P afors o Afem i 5 et e
A)mﬁwmmw =1 Fefed waet g v (i ) g 2 |
) 51 m’u’l‘ E 4 i
2; THIHd T gy : Direction (Q. No. 45 to Q. No. 49) : Study the
D) TSR §SH Hrishy following information carefully and answer the
E) Sude ¥ A i e ' | given questions.
The food for work programme was The following table shows the total number of
ug-'.-*-:: tructured : ‘
EFE ;.rgosnzuocclitraiera qcég%named = crops (in quintal) produced by 5 different farmers
A) II;iural Employment Guaranteé: in a certain year.
rogramme =
B) National Rural Employment w | X e WE; t
Programme Rye | Mustard | Oats | Sugarcane "
C) Integrated Rural Development W feao| og0 | sa0 [ 900 30 | B\"s
Programme Roshan ‘
D) Employment Generated Programme W | 450 | sa0 | 180 600 440 wb
E) None of the above : Peatnaier | s
TT‘T 50 | 660 | 250 560 650 ﬁlﬁ-
Yt fra Rl TS T TR T € 7 _ Sl o
Wiid | o0 | 1050 | 280 840 820 -+ 2140
A) TiEl B) %"'Ta___? Bhargav | ° B : 5\7
L) 85 FTEET D) L T 60| 760 | 820 720 630 %gq 0
E) :Wﬁqﬂ Td Eﬁl’% EE| Krishna '
Dekhni is a traditional dance formﬁ_of which 25 ’b‘”o ’\,ﬂ,‘ﬁ/ 2[5 P
s 15, Wmmﬁaaﬁmmﬁm?ﬁl 78
Indian State ?
A) Goa B) Herch A) 612 0 0 o
C) Madhya Pradesh o Od'é:;a1 B) 574 \ OS“ | '1 c,o
E) None of the above ~£] C) 656 quo
M@mw D) 738 Q\P ‘\"-“ \
g °
" gfﬁffﬁm . E)wéﬁﬁﬁs‘ =5d
A) 20 adat, 183 34 B) Zg 3@%[’ 122: “Find the average crops produced by The]a.
C) 21 5, 1843 > D) G A) 612 ;ﬂi’
E) sugad | 3 = india Society was B) 574 2_9\'\.’16
The Bengal Br|t|sh n 4 .'I o) 656 o
established on B) 20 April, 1844
A) 20 April, 1 1834 D) 20 April, 1843 D) 738 4y
c) 21 April, hse Dove B E) None of the above

B NoneO IIIIIII i ‘ b(ﬂ 29
o “ - i 11 % ” [

VZ9 nlmnlmmnmu 2 Vs = -
4 S N

2 & .

7 ".,
! ; 2oE 1‘

>,
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46.) frg fram 3 el Gwd H7 HEe IS 7

A) THTHT, B) s

C) WM D) wmia

E) 39 ﬁ@r g T

Which farmer produced third lowest number

of crops ?:

A) Prabhakar B) Theja

C) Roshan D) Bhargav
E) None bf':the above

<ffer 31gaTd T R |
A) 397 : 284 B) 185:113
C) 229:175 D) 52:17
£) wwda & & ¢ '

nd the ratio between total Mustard produced

@& Fi tio
[0 to that of total Wheat produced by all the

=¥

farmers. '
A) 397 : 284 B) 185:113
C) 229:175 D) 52:17

E) Noné of the above

48. mﬁmmﬁawmﬁ, i R Ienfeq
Wwﬁ@'wﬁﬁwmﬁ%?

A) 72% B) 85%
C) 97% I D) 58%
E) Iwda & & Hig Tl

The total crops produced by Roshanis
approximately what percentage of total
crops produced by Bhargav ?

MW@ wﬁq“@ﬁmmﬁﬁtﬁaﬂmﬁ

3fed % 9 3w T % |
A) 156 o
€} 118 . D) 192

E) ST & @ %t
Find the difference between the average of
Rye produced to that of Oats produced by all
the given farmers together.

A) 156 B) 234

C) 118 D) 192

E) None of the above

(50. et i S R wEifege < wumeA e

g T off 7
A) TiITET HoT TG
- B) QIGrTS IS
C) e Hig Hiete
D) =Tt MR faeteh
E) ST A 8 IS 7@
East Indian Association in London was
founded by
A) Gopala Krishna Gokhale
B) Dadabhai Naoroji
C) Madan Mohan Malavia
D) Bal Gangadhar Tilak
E) None of the above

"'jS}).Fﬁﬁmﬁwm:ﬂw%?

[
Eh:

A) 72% B) 85%
C) 97% D) 58%
E) None of the above o

VZ9 100 00 AR

B 12gm
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A) U q59 B)
C) fareht . D) T=EH
E) Swe & & Hi T
What is the capital of Libya ?
A) Port Louis B) Luxembourgd
C) Tripoli D) Amsterdam
E) None of the above
e W
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52, fos @ el g R,

A) FAR B)

C) X D) Wﬁé@ﬂa
E) Swfed o | $E 7 e
Vijay Stambh is situateq in

A) Udaipur BY daivsie
C) Jodhpur ) Jaipur

D) Chittor
E) None of the above | °r9a"‘

53. aﬁ&"ﬁﬁﬂm(@m)m 2023%'
| g ?
A) 1 &&=, 2024
B) 1 SHedl, 2024
C) 1 313e, 2024
D) 5, 2024
E) ST # & %S 7

When did the Biological Diversity
(Amendment) Act, 2023 come into-_fqlrce ?

A) 1 February, 2024
B) 1 January, 2024
C) 1 April, 2024

D) 5 June, 2024
None of the above

x 3 y TG~ &, I LCM&T & 7

A) = B) 1 |

y -
»C) Xy D) X+Yy
E) sudad § & g T ;
%i-‘.;. If x and y are co- -primes, then their LCM is
¥
A X B) 1

Yy

C) xy by %+ ¥

E) None of the above

__Wm....muﬂ"'"“' -

[ 55, Jarfrefir sreferaeen 1 514 a1
A)%awﬁqﬁuﬁwﬁramﬁﬁﬁmég%a%
B) & ¥w el v ST STt A FA B
o)aawﬁﬁw%wﬁmﬁzﬁmm%
D) & &1 Forrt feres il et e 2
E) 3vdd § & hiE &

{@ﬁ.@ Meaning of the underdeveloped economy

[E9%5 was

A) Countries in which per capita real
income is balanced

| B) Countries in which per capita real
income is low

C) Countries in which per capita real
income is high

D) Countries in which mass poverty is
observed

E) None of the above

56. /31 I HSA (ILO) 1 &A™ el
R g 2
- A) R
C) U™

E) Iww § § IS T

Where is the headquarters of the International
Labour Organization (ILO) located ?

A) Geneva B) New York

C) Paris D) The Hague
E) None of the above

B) =maih
D) g &

@. Fill in the blank with the correct option.

What for breakfast ?
A) are you usually having

~B) do you usually have
C) have you usually
D) do usually you have
E) None of the above

VZ9 [
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hoose the one word substitution from the

ive options given below.

A group of persons working on a 's'h'ip or
aircraft

") Crew B) Scar

C) Concert D) Staff.

E) None of the above

Choose the right answer from the five options
I‘. w o

| given below to frame meaningful sentence.
R Rama/ garden /in/the / be/ may.
A) In the garden may be Flama.'; |
" B) May be Rama in the garden.' i?'-':f','
C) Inthe garden Rama may be.i_-_f’-{':i
D) Rama may be in the garden.:_";f_'_l
E) None of the above g

Direction (Q. No. 60 and Q. No. 61) : Read the
following passage and answer the questions by
choosing the right option.

Time is one of the most valuable re'éburces
we have, yet many people struggle torrjénage

it effectively. In today’s fast-pacejd__;:"'ﬁ,rvorld,
students, professionals and even homemakers
face numerous tasks every day. Proper time
management helps individuals prioritize their
activities, meet deadlines and reduce stress.

One of the key benefits of managing time wisely
is improved productivity. When people plan
their day and allocate specific time:slots for
each task, they tend to achieve moré_in less
time. It also creates a sense of discipline and
responsibility. IFa

Moreover, effective time management leads
to better work-life balance. When tasks are
completed on time, individuals can make space
for leisure, hobbies and family. This not only
boosts happiness but also improves mental

well-being.

+mrorrny

i ¥ N

Howevgr, poor time management can result in
procrastination, missed deadiines and increased
anxigty. Devemping time management skills
requires practice and consistency. Simple
habits like creating to-do fists, setting goals, and
avoiding distractions can go along way in making
each day more efficient and meaningful.

According to the passage, how can individuals
start improving time management ?

A) By watching motivational videos
B) By working faster without rest

-C) By creating to-do lists and avoiding
distractions '

D) By comparing themselves to others
E) None of the above

(_/6)7 What is the main purpose of the passage ?

.A) To highlight the importance of time
management '

B) To explain the causes of stress

C) To discuss different professions

D) To promote the use of digital planners
E) None of the above

62. Afe +4 D v 1 T 391 o9 31K —10 D
WIffT T T JTEad o9 T TR % 996 §
St 2, uRond wifed @@ Beft 2
A) -6 D B) +14D
C) +6D D) -14D
E) Suded & § I3 el
If a convex lens of power +4 D and a

[I-Edﬁ‘@ concave lens of power =10 D are placeq
EI¥E in contact with each other, what will be the

resultant power ?

C) +6D D) -14D
E) None of the above
eccaes iSO B S T B o .

VZ9 (AR
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31 R, 2001 = m;“;;a‘r .
|1 o 7
A) TFER o
' C) HER __

: D

E) TR A By
If 15! January, 2001 yaq
what day of the week Mo
318t December, 2001
A) Friday

C) Monday

E) None of the above

ﬁmﬁﬁ'aﬁmwmm{fﬁ%@?

nday, then
Was |t on sl

B) Wednesday
D) Saturday

A) 1894 '
C) 1839 g; 1333
E) Swde d & #is

The Parliament of Religions held at
Chicago in which year ? :
A) 1894 B) 1893,
C) 1839 D) 1983
E) None of the above F
65. 5 SHatl, 2025 =, G qe .9 & fog
F fearen afi ffifa e Tt 96 (FPV) -3
3R sreE-wiia e 7
A) T G Rafiesd @ gefifeE
B) merTia Sl e fafies
C) e farend fafice
D) i farare feAfiee
E) e & & W |
On January 5, 2025, tWO indigenously
i tructed Fast Patrol
designed and constr 4

Vessels (FPVs) —Amulya and Akshay — were
launched for the

Indian Coast Guard by which
of the following ShiPya"

ds? .
A) Garden Reach Shipbunlders'?fqd_
Engineers o uilders-Limited
ghipbuilders L
B) Mazagon Dockn:j i 0

. H a
C) Cochin Shlp}éI lmited

F

E15E

S

66. DTM ¥ Rrg = & wed 3 smaen 3t 81
STt 8 2

A) =R 2
B) = 1
C) = 3
D) =wi 5
E) e 1 & %15 78

[@+#[E Which stage of the DTM sees the fastest

EP

M

population growth ?
A) Stage 2
B) Stage 1
C) Stage 3
D) Stage 5

E) None of the above

T qe9 1 Ui I gU, T Afgen 3 w1
et 7 2R e A gl 39 2 1 e
HfgeT & w91 H@eY R} 7

A) frat @
' B) 1 :‘\ig
) W

D) ==

E) sude # & IS &

Introducing a man, a woman said “His mother
is the only daughter of my father”. How is the
man related to the woman ?

A) Father
B) Son

C) Brother
D) Uncle

g

D) Goa Shipyar
E) None of the abﬁiw mmmmmmmmmm E) None of the above
e - Ay
® 158 P

A
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A
kj’éﬂ%wﬁwmmaﬂtwwaﬁaﬁaﬂ 70. T wfuf 1 yearer wat & ?
St &, _ - % 3idaia It | | A) T3 B) sherehdl
A) =g 44A C) mg™ D) T
B) 3TI=8% 43A E) ST § & %13 78
C) =0T 46A The headquarter of Anushilan Samiti is at
D) 319=3¢ 48A ~ A) Bombay B) Calcutta
E) 37w 3§ & 2 & C) Madras D) Poona
: E) None of the above 6

Protection and improvement of environment

and safeguarding of forests and wildlife of
the country comes under

A) Article 44A
B) Article 43A
C) Article 48A - -
D) Article 48A
E) None of the above
69. 7% Teoell # iR Sfean =7iw SsffeT 2025
T %Y U HI ﬁa'cna TpEa Sitar ?
A) fawex qa'ﬂa'a:r
B) < @s% 1S =3
C) @&g &=
D) el AMIeT -
E) 3uded § & ?sr;% EE]
%@I Who won the Men’s Singles title at the India
[E¥%% Open Badminton 2025 held in New Delhi 2
A) Viktor Axelsen
B) Lee Cheuk Yiu
C) Lakshya Sen

D) Kento Momota

E) None of the above

——

,\-ﬁ%?ﬁfmmﬁw% ? %

QU =16m

-A) 40%
B) 20%
C) 25%

D) 80%

E) Sww & & #1$ &
= in percent form is
A) 40%

B) 20%
C) 25%
D) 80%

E) None of the above

72. Szam-3 frm ad vafE e o
A) 2021 B) 2019
C) 2022 D) 2023
E) I9daa & & IS Tel
Chandrayaan-3 was launched in whjqp,
year ?
A) 2021 B) 2019
C) 2022 D) 2023
E) None of the above

& Scanned with OKEN Scanner
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@W%wﬁ"rnﬁﬁaﬁq_mw%% ;
A) s H @

@qﬁzaﬁﬁmmaaﬁaﬁnwﬁam

JAEA R ?
B} I Ay T S
C) et arR B) g 3R e
D) sféor =i "R , C) = i fitfirep
E) Swa & & %18 i D) TR 37 FHEAE
E) 37 4 9 IS T

Which sea lies to the west of India?
A) Bay of Bengal
B) Arabian Sea

C) Red Sea

D) South China Sea

E) None of the above L

74. Wﬁmwsﬁﬁﬂtm@ﬁawﬁt{wgﬁ)m
et SeEEs 2025 1 8 af HEHT el SR
o T T 7
A) sfea 2fee e, % foestt
B) wifer e, 7 fawed

C) gmqagq}mﬂﬂﬁ%ﬁ%@ ﬁﬂ‘h@
D) weredt Hfet, MHATR |

E) mﬂ?ﬁﬁﬁaﬁﬁ?@

the 8th edition of lndusfood Asia’s

L

Where was
premler Food and Beveragé (F and B) Trade
" Show 2025 organized

A) India Habitat Centre,

New Delhi

New Delhi

B) Pragat Maidan,

C) India Exposition Mart Ltd.,

Greater Noida iy
a Mandir, Gandhinagar

[E+[E Acids are stored in containers made of
E‘_I%E,. which materials ? |

A) Wood and paper

B) Metals and plastic

C) Glass and ceramics

D) Rubber and cardboard

E) None of the above

76. AT <67 SR Tae 9] 1928 °
Sr e T o |

, A) A TEE
B) waredt el
c) fa. fa. fiit
D) Tsig T81G
E) s # & g T

The Constitution of India was first drafted by

in 1928.
A) Motilal Nehru
B) Mahatma Gandhi
C) V. V.Gir
D) Rajendra Prasad

E) None of the above

S

D) Mahatm
E) None of the above _______
VZ9 (I Illlllll 17
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@. v s o =) ffewr weeem gro e
5T ST 6t wrwon Ry 6 off 2
"A) 1S A¥eden
B) fermiferemy
C) TSTTeT=Th
D) =fén
E) Sugem & § ;
Eﬁﬁ! Who announce?t_ﬁ:le%gntlsh Govefnment’s

EI :u acceptance of the partition of India.?
A) Lord Mountbatten

B) Linlithgow —
C) Rajagopalachari B
D) Hardinge
E) None of the above N
. ﬁrm‘%rﬁaa H ¥ e i w9 ?ﬁﬁm 1
+A) TR B) el .
C) =it D) = - _
E) Swia § / 1S 7 s
Find the odd one out from the followmg
A) Mercury B) Iron .
C) Silver D) Gold; .

E) None of the above

& | 3G Al =1 A7 AT

A) AT ST HY

B) T Wit &Y
. C) fay wi=r =fy

D) S S |fy

E) 3Suder § & g T
The India-Pakistan signed a treaty |n the
year 1960. The name of that treaty was

A) Yamuna waters treaty

B) Ganga waters treaty

C) Indus waters treaty N

D) Brahmaputra waters treaty

E) None of the above

w%mﬁaéweoﬁ@aﬁmmm
%‘1

VZ9 EAR

P g,

186 »

fdw (9. 9. 80 AW, 1. 84) ; Frfirfiad T a3
T SR 3R 5t 3 I 3 |
=TT T TR W Wi arer- srem wEAT AT S,
well, 7, I Sk wg § Ak R (@ 3k
FH5H) < FoT FEAT i Wiy ferercor q@iten & 3 Ay
21 o T¢ e = uie stem- e naE o fiftfa =6
il <1 HE ARy FRi § o ufar 2 |
Direction (Q. No. 80 to Q. No. 84) : Study the

following information carefully and answer the
questions.

The given below pie chart shows the percentage
distribution of the total number of chairs (wheel and
office) manufactured in five different months i.e.
January, February, March, April and May and also
given table chart shows the ratio of the number of
wheel chairs to office chairs manufactured on five
different months. -ﬁ-EI

N . e L
R g gaden=5000 [E¥Y
The Total Number of Chairs Manufactured = 5000

L] S
May January
25% 27%
e
April e
10% I February
March 20%

18%

L Ein e el Sl T A
Months i o o | sgamE
The ratio of the number
of wheel chairs to office
| chairs manufactured
St/ January i
| B/ February fie
1/ March R
i/ | ST/ April ; : ;
WS/ May = :

al
.'\

;@m

|
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- R

Loy e ” e
20/ B T = FREgy gy oo . s i
ﬁﬁﬁaﬁﬁﬂgﬁf@i B He 3t st Bz.aﬁaﬁﬁfﬁaamﬁﬂgﬁﬁfﬁﬂ@”ﬁ@f' .
B e ' <61 et T b A A
HIT | ST T e § Ffifa i 1 B v
- Ly %1 fepee wiewma 8 7 {.
A) 2: A) 70% B) 40%
"B) 5:3 ! C) 30% +D) 50%
C) 8:9 ¥ E) Iwaa # & H13 Tl
D) 7:8 " -;:LE The number of office chairs T?Tnu(f;{lf_cf:turi% y
T : = in April is what percentage of the dittere
E) T FIE T between the total number of chairs
Find the ratio of the Nnumber ¢ manufactured in February and April ? w
: nber of 'wh i
mar?ufactured in May 1o the nuﬁ\:}fb eere;tG;‘?ilc:Z A) 70% B) 40% n %
chairs manufactured in January; C) 30% D) 50% C‘fg
A) 2:1 ' / E) None of the above .
B) 5:3 (b3 M o s s,
C) 8:9 (_;’0’0 et AT 1 T 1 5/8 7 I A I
D)7:8 i:;g;;;;q/(}" 3 ffifa siidg T it wer % g 50 3
E) None of the above %,‘cﬁ%ﬁﬁﬁﬂ?ﬁﬁ?ﬁﬁﬁé@?ﬂﬁﬂil
« A) 550 B) 740
1. it 3 Fififar per I § & 20% i T C) 480 D) 670
foehl | afe Satt # T8 foehi 78 oArhe FhREl E) Swis | § I8 &l ,
& = ?ﬁhﬁ g If the number of wheel chairs manufactured
i S = R in June is 5/8!h of the number of wheel chairs

5:4%, dl Sedl  a=ft 78 @i ?ﬁhﬁ 1 qeT manufactured in March and the ratio of the

i iR | number of office chairs manufactured in
1 b OO March and June is 5 : 3, then find the total
A) 690 RS 'l/‘" number of chairs manufactured in June.
B) 820 P “A) 550 B) 740 o
<) 510 :_‘L A C) 480 D) 670 \V
D) 780 , E) None of the above
E) Sugert & & I3 T g BANwED # it =fe FRE H Fen i v §
Out of the total number of chairs ma AUlEcired et Eqm <t e % S S 0 H |
%E} in January, 20% of the chairs are unsold. Ifthe A) 320 B) 550
R ratio of the number of office chairs to wheel rC) 450 D) 600
™ chairs unsold in January isé ;:S?neuna]:;]d b E) Iude & & I3 &
number of wheel chairs =0 ' Find the difference between the number of
A) 690 L wheel chairs manufactured in February and
B) 820 fUN’ 30 ' the number of wheel chairs manufactured in
g ¢® { April. '
C) 510 lgo A) 320 B) 550
D) 780 ; C) 450 D) 600
E) None of the abové ' E) None of the above

Z5] i, . Wﬂ% o e

ok L1 z

S s /‘:%60 BEL tso (-0
('gé qs" 1350 . ‘Z"{?‘f (2= e

~ =
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85. &1 ¥ HH-wt anefia g aul % gt # g

FTeiS TRIE (H,CO,) wmdt & 7
A) TTEESH (N,)

B) ST (O,)

C) S SETEEE (CO,)

D) HeH SEATHISS (SO,)

E) 39+ # @ =IE 7

El*-F_Q Which acidic gas from the air dissolves in

s

o=t
[E¥:75 rainwater to form carbonic acid (H,CO,) ?

A) Nitrogen (N,)

B) Oxygen (O,)

C) Carbon dioxide (CO,)
D) Sulfur dioxide (SO,)

E) None of the above

86. Tava ! T=d el T& wHA-H B 7

A) fafafadt
B) 3T
C) et
D) Arse
E) 3w d @ =S T
The longest river in the world is
A) Mississippi
| B) Amazon
C) Yangtze
D) Nile

E) None of the above

88.

M
s

87. WW%W%%%W% I

TH T Y i R A ap A T € |
ST @ T O AT 2 2

A) B

B) T¥

C) &l

D) Feif & foran st wepan .
E) SWiw H & % 7

Mukesh is taller than Suresh but shorter
than Rakesh. Rakesh is taller than Harish

but shorter than Amar. Who among them is
the shortest ?

A) Suresh
B) Mukesh
C) Harish
D) Cannot be determined

E) None of the above

fata & s 61 wfa 3R wem oy i
Tl S SEUTT I A Fa
sk

A) mafd

B) alTeed

C) Ui

D) I

E) Iwiw # & Hie T

The ratio of speed of light in vacuum to the

@ speed of light in a medium is called the

of the medium.
A) Frequency
B) Wavelength
C) Refractive index
D) Amplitude
E) None of the above

(R
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TR
e e
. T ) I I
- mi 3 202‘2 2' TS e “S.AF.E. (Rrrg, | Few (9.46.919 w. 9. 95) : Fretferfia sl 1
e !E W8 Rz vy ¢ | ergde semm wif af = fon o a6 I
% T afen s s @ | 4 ) - ok
frié s 2 O
A) =M 3R TR o - Direction (Q. No. 91 to Q. No. 95) : Study the
B) & 3R wgh T 1 e following information carefully and answer the
C) WRdH 3 wfwm oy questions given below.
. I B gt 3 TG o iR e (5. 0) e
(NIT) s AR Bl ot 1o Prodlcts (nifis |
E) i 4 9 =

In December 2024, which organization
released the report titled “S.A.F.E.
(Secure, Affordable, Flexible and Efficient)
Accommodation : Worker Housing for
Manufacturing Growth” ? .

A) Ministry of Labour and Employment
B) Ministry of Housing and Urban Affairs

E St

AR FEX
Cell Phone Computer Smarl Watch Dining Table Book Rack

C) Confederation of Indian lndgs’jry _(CII) 91. Serer 3 o o % 3R T ;
D) National Institution for Transforming
India (NITI) Aayog A =hifT | s
E) None of the above A) 8,500 o "L R
0 \ 50
go.ﬁﬂwmﬁ?ﬂmﬁwm B) 8,000 ¥
wad o I TR 7 C) 9,000 TR
A ik ﬁggﬁ D) 7,500 ¥4
B) ’ - .
C)anﬁuﬁmaﬁﬂa@ﬁ E) 3w & & 1 T8I
D) T Tet HEEH Find the average of the marked price of
E) é Aam Rl (e P dining table and book rack.
#[5] Which type of rock formation is mos
l;ﬂdgg?; commoﬁﬁf associated with low groundwater A) Rs. 8,500
" storage 7 B) Rs. 8,000
A) Sedimentary rocks
B) Alluvial deposits B C) Rs. 9,000
C) Igneous and meta}morphlc rocks D) Rs. 7,500
D) Limestone formations
E) None of the above E) None of the above -
[VZ9 [T i 2161 BT
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B i’
e o oo S o B e S O B P S ORI P

(o2 e e v s e s 70 7 @ 20%
3o R 3N gEwIRR SRy ¥ it gl T
15% <l T2 A R, ) See o @t wkwd 71

@Ia‘%ﬁul oy

A) 5% }épgof’ wg oo
M*” °

D) 2% g

E) SmAd s 9280

If the marked price of the combhfer is 20%

more than its cost price and the'shopkeeper

offers a discount of 15% on the marked

price of the computer, then find. the profit
percentage of the computer. .|

A) 5%
B) 1%
C) 3%
D) 2%
E) None of the above

mﬁﬂﬁﬁwﬁmwaﬁtaﬁmq@45
8 | Af¢ GHECR H 25% H1 oW freran B, @

T3 a1 %9 god T HfY |
A) 6,200 T ST
B) 6,000 ¥ b (Ao
P
- C) 6,400 TR T
D) 6,500 ¥ %o,
E) Sude o & w1E 6 S. >

The selling price and marked price of the
[EIYE] dining table is 4 : 5. If the shopkeeper gets
E1¥%% the profit of 25%, then find the cost price of

the dining table. '

A) Rs. 6,200
B) Rs. 6,000
C) Rs. 6,400
D) Rs. 6,500
E) None of the above

LR

e

3 .; A
ﬁammmaﬁhm 1,200 &7

A) 1,000 TR

(B) 800 FF }’(:%
C) 900 ¥R (6o ALY
D) 600 &9 |

E) I § & 18 T

If the ratio of the cost price and marked price
Eﬁm of the cell phone is 3 : 4 and the profit earned
S by the shopkeeper is Rs. 1,200, then find the
discount offered by the shopkeeper.

A) Rs. 1,000 90
B) Rs. 800 Qﬂo L

C) Rs. 900

D) Rs. 600

E) None of the above

95, @ﬁaﬁﬁngﬁmwﬁwwms%w
R} 3 =i a9 1 %9 6 4,800 ¥R R |
IfG GG w1 T e W IEH Jifed e &
10% @4 Tieren 2, @ QR s g% W& W
S 9Tt B T BT |
A) 150 T3
C) 200 ¥

E) 3vdea # & #18 &l

The selling price of smart watch and book rack
is in the ratio of 4 : 5 and the cost price of the
smart watch is Rs. 4,800. If the shopkeeper
gets the profit of the smart watch is 10% of its
marked price, then find the discount offered
by the shopkeeper on a book rack.

B) 100 T
D) 250 ¥

A) Rs. 150 B) Rs. 100
“‘“‘"‘*--E) None of the above

et . i P TR
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is applicable during external as
L

meE___
G AT .
r@'}}ﬁ well as internal emergency.

98. % TSIG T 3 T FAAA 2 |
A STt

B) Trgafet

C) gemw

D) T

E) swa o & B TE

of India is Ex-officio Chairperson

of Rajya Sabha.
A) Vice-President
B) President

C) Prime Minister

[

A) Article 359 D) Governor
B) Article 358 | E) None of the abo
C) Atticle 348 _ “‘XA
' 99) e T T =T S R 2 |
D) Article 338 i O 1 Bz B) %
E) None of the above = '
| 3y C) W D) &
@t 45 5T 61 Her T 31y i % WA 157, E) Ixdad | & I T8
AMMIomuETHEFE 7 The camel stores fat in its
A) 32 A) Stomach B) Legs
C) Feet D) Hump
B) 30 E) None of the above
“ E¥[E
G} 3 ) 100. T5EE % Y F EA 2
D) 35 A) THeF h
) awdea & & HE T . o e
In a class of 45 students; the raﬂlf_lof Ayush D; 38 m“
is 15 from the top, then rank of Ayush from 5 N § 3w T
the bottom i The flower of the Hibiscus plant is
A) 32 A) unisexual
B) 30 B) bisexual
C) 31 C) neuter
D) 35 D) very small
E) None of the above E) none of the above
. i3 23 P.T.0.

t.
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